Determining Parallelism
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lines Iy and {5 given:
mil=5bx+7,

mi2 = 26z — 199,
mi3 =17y — 443,

5 A= . .
bﬁh@ﬂig 3 mid — —dy + 233,

lines I3 and 1y given:
mil=5z+52, =T

mi2 = 26z + 221,155 | @
mi9 = 1Ty — 365,734

m/10 = —26y + 742,76 B

lines Iy and lg given:
mi19=Tz+5, it¥

m/24 = —10z 4 396, 5?@
m128 = 23y + 543, 4

mi32 = =Ty +5. '¥*

lines ly and I5 given:
mZ/11 = —33y - 649, 77
mi15 = 1Ty + 477, &3
mi19 = —27z + 696, 102
mi24 =9z —96. 1L

. lines {, and Iy given:

ms17 =Tz + 57, 3¢
ml22 = 10z + 66, 3¢ @
mi19 = —31y + 252,35 !
m/24 = 36y — 210. 35

Use the figure above and the information below to determine if the mnwnmm_ lines
are parallel. :
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. lines ls and lg given:

lines Iy and lg given: . 800 HX3LF Hox~30R
m/23 = 30y + 300,307 BN [T g o= e

mi24 = ~Ty+18,e0 2723138
mi27 = 4z — 32, wv ¥E
m/32 = 16z — 308. ¢°
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hines Iy and Ig BIVOR: 0 o g 27457422y noe=ifo

mi2 =11z + 983 1Y*

I HEE=ID [(,§ By 18
miT = -8z + 97,4 )57 we- o Omawﬂw\u 5
mi9 = 2Ty +57, 36 * = yeE

m/10 = 22y + 108. <2 @
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m£21 = 12z + 258, 14 xIoL i

m/29 = 11y + 4, 1 e

m/30 = 12y + 186. &4

lines {; and Iy given: 3 +mm,»wwxwmwm =80

m/15 =35 + 58, 114 H0x A HBO ey WSyt

m16 =27z - 5385% A2t 2y-sisiee
= “ XA A3

m/9 =16y ~ 120, 5 @ g

m/13 = 5y + 69.124

lines I3 and l4 given: 7x \mmw ‘my HiIz 20 <~ MMWMMMWW

m4=Tz-32, 6° YT Y =-30

mi6 =—2z +112,80
m{11 = 20y + 679, 14
mil6 =6y + 259. 39
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